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(1) #aKE YR AL T : 25A 1.2 m+ ik 25A 1.2 m= 2.4 m
(2) HKE YL U< b 65A 5.0 m—+ AR :65A 5.0 m= 10.0] m
(3)  PRIE GaKERNEH) VaulkdemE 654  18.0 m+  ailkREIEE:65A 18.0 m= 36.0] m
(4) WKL Vit AL  65A 1 fPT+ ¥k 65A 1 T+ 2352 1 = 3.0| f&PT
(5)  EWHEXeHE EHEEOK ) ENEDAE i} 1 &P+ ek v 1 &= 2.0| AT
(6) —f%xIP¥E Yl A A TE  25A 1 A+ Vs kmE: 25A 1 &= 2.0 fEpr
(1) —fxHE 2351 1 4= 1.o] #
(8) H—AHT 2352 1 #H= 1.0] #
(CORT = YN ¢ ENEDAE i} 1 &P+ e K v 1 &= 2.0| AT
#t
2 MEITE
(1) FKERE VallikbEE:65A 5.0 m+ Wi KHEIFE:65A 5.0 m= 10.0] m
(2) RREGeKERBRNEH) ik VauikbrE 654  18.0 m+ il KEIFE:65A 18.0 m= 36.0] m
(3)  —fxFpEE PREFE =LY 1 &= 1.0| fEifT
(4) FA—RETHE PREZRE L) 1 &= 1.0| f&pr
(5) *éﬂ% iGN ENEDAE it} 1 AT+ i KR v 1 &= 2.0| AT
(6) AR Ta v kAL 1 &P+ ey K v 1 fEpr= 2.0| AT
ﬁJr
3 Zofh
(1) 7=ABE 160 L/~ 20 L/ X JEiE kK 2 H= 16.0) ff
(2)  FhuaBRE e kAL 1 &P+ YaE Ak v 1 &= 2.0| &EPT
(3)  FEAEM ALY YA kAL 1 f&ET+ JRiE K rE v 1 f&pr= 1K 1.oj] =X
(4)  RERGREEE EMEDAE it} 1 &F7T+ JaiE e v 1 &= 1= .o =X
(5)  BITHEE TR 1.o] =X




